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Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455898780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455898781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455898782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455898783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455898784 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455898785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 1455898786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455898787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 1455898788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 1455898789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 1455898790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 1455898791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 1455898792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 1455898793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 1455898794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 1455898795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 1455898796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 1455898797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 1455898798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 1455898799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 1455898800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 1455898801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 1455898802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 1455898803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 1455898804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589295

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 1455898805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country

category was received by :

.-’-" o *
Wil © W i &k o L EEN

Options :
China
e
O
1. %
India
O] =Y
2. ¢
Singapore
Jf‘_’lé-'
3. % '
Thailand
A SF
4, %

Question Number : 27 Question Id : 1455898806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Indian Film personality of the year 2022 award at the 53* International film

festival of India (IFFI) was presented to :

QJ}"&JEH{!KM%'L'Eumﬂ()22\_,"p£pu; (IFFD 44 317 U 153 L sk
Options :

Rajinikanth

1. %

Late PuneethRajkumar

i
o o
S LD e E[‘.«‘?,f'

2. %
KonidelaChiranjeevi
# - 5 Kl
ul;{..-'z.l_.ifl_:.f
3. ¢
Amir Khan
e
4, %

Question Number : 28 Question Id : 1455898807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



28.In India, eleven states account for 90 percent of the total number of operational

mines. Which of the following states are part of them?

B 5 <) P S it Ll s F UL/ FEI0% e

A, Andhra Pradesh

&l e
,___-‘;){J_fﬁj
B. Bihar
C. Chhatisgarh
a:fu'::i
. Gujarat
=
el
E.  Uttarakhand

S

Select the correct answer :

-
Options :
A.C & D only

DusC A S
1.4

B & E only

EnB 7

2. #

3. %



C.D & E only

E.oD {C A S/

A.B & Conly

(_.1 Il B *'A _-E‘,r"";

4. %

Question Number : 29 Question Id : 1455898808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following is incorrect with regard to the National Green
Hydrogen Mission?

| ( - P' | d -‘.':" I} b 4 f’ .":'f'
b hbe)r e alf e P U

Options :

It was approved by the Union Cabinet in April 2023.

A 'l...;»* E’u-2{)23u ﬂ __J-Kn # f,-:_,

[t makes India a leading producer of green hydrogen in the world.

p‘ ~ l,---’
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[t reduces dependence on imported fossil fuels.
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It attracts investment opportunities for the industry.
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Question Number : 30 Question Id : 1455898809 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
30."Yaanam’ is a science documentary of about 44 minutes. Which of the following
are comrect about 1t?

e L. i ot e "o
el -"f'e:w'ff——-}é’:w"d:-{fw Wt Al LT Al ’r‘di.r‘-‘—:"'"*“ A
A.  Yaanam is a first science non-feature film in Sanskrit,

v g ' o pre
_..";_i"hrbfﬁ-_,;fl-;v%hf:&ff “:"i.'L"

B. It recounts the story of India’s Chandrayan.

e i :
— UROW U e e Ry

C. It was screened at the 33" edition of the International Film Festival of

[ndia (IFFI)

b i o
=L :g:f:;:ﬂ}.,l:;"’l'fvw ,'-L_,.‘_':i.;:.'

Select the correct answer :

i

S g elr e



Options :

A & B only

B -'.3' A I—-;_,'r.ﬁ

A & C only

C ool A ¥

C only

NG

B & C only

'C FEL B -._jj"‘;r

Question Number : 31 Question Id : 1455898810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total length of national highways (NH) in India , as on 30" November, 2022,
approximately, was : (in lakh kms)

.

R Z g ary il sy A 1
(LAFENE L PSS S dd Lossiec 2022 2330

Options :



Question Number : 32 Question Id : 1455898811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

March 2023, who among the following was elected as the Chief Minister of
Tripura?
wu w il e Si22023%.4
Options :
ManikSaha

WLl
1. %

ManikSarkar

J Kz“ ...FLTL



. Biplab Kumar Deb

-~

el

Dasarath Deb

3B

Question Number : 33 Question Id : 1455898812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In World women’s Boxing Championship 2023 who won the gold medal in 50kg
category.

- Wl o g wr har B s g .
Ol qﬁu:jyﬂ:' L il ¥ 50 s f‘;ﬁ"&@ﬁm’;ﬂoﬂ

Options:

LovlinaBorgohain

ﬁ L
1 |"r:*"I s50s s
. B

NikhatZareen



Saweety Boora
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NituGhangas

=
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Question Number : 34 Question Id : 1455898813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is wrongly paired regarding Nobel Prizes 2022,

.

P-ELICL g, Pes el s b3
Ce Gl e L1p Z2022:M601) 5
Options :

Physics — John . F. Clauser

e - =¥
1. %
Chemistry — Alain Aspect
2T IV
2. 4



Peace — Ales Bialiatski

c |
SELS - S
Economics — Philip. H. Dybvig
= Sy I T
SIS EIE L e
4. %

Question Number : 35 Question Id : 1455898814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the incorrect pair regarding the Union Budget — 2023 from the following.

& |4

NG | . '-' f i-.-"
LW ’EI;}?.'MLUT:UE b NP L2023 1785087 7
Options :

Gobardhan - Waste to wealth plants

i#® H {-’ ol [ -’P’;
W&y ssd Lmday — T asd
1. % )
AmritDharohar — Optimal use of wetlands
Vg
eIy FEEUSE IS - s P
2. %

3.¥



Unity mall — Centre for national integration

Question Number : 36 Question Id : 1455898815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Whose writings influenced Karl Marx’s dialectical materialism?

-
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T TR f £l ' B
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Options :
Ricardo
y "JE:’J
1. % i
Hegel
¢,



Angels

urﬁ'j
3. %
[enin
-
o
4. % ~

Question Number : 37 Question Id : 1455898816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[dentify the writer who won the SahityaAkademi Award for Telugu Novel
‘ManodharmaParagam’ in 2022.

e | | pois i el | .-"ﬁ..’?"«'."ﬁ £,
s S JRO220 L SAISHMAST o LONH L 14l P

Options :
Vadde Naveen

o A3
1.%

RepakaSubhadra

-'J;ui‘,{,‘!""é;,x
2. % :

3.¢



MadhuranthakamNarendra

U,ﬂ:jl’fh!"pn

Chandra Latha

Vi

4, %

Question Number : 38 Question Id : 1455898817 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

Sl PECOP2T U AU

Options :

Kuwait
oy
Sharm-el-Sheikh

2. %

Doha

b2



Beirut

[:
i

Question Number : 39 Question Id : 1455898818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which Harappan City recognized as UNESCO world Heritage site in 2021.
# & - - " s f& 5 of
Yo UL UNESCOU20215 7.2y
Options:
Kalibangan
7
Tt
Dholavira
lzalls”

2. %

MohenjoDaro

EVIRE AN
3. =%



Lothal

LY

Question Number : 40 Question Id : 1455898819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Every year world Press Freedom Day is celebrated on

- e s # T e |
- Pl b T Sl a1

Options :

3", May
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Teaching Aptitude

SectionId: 145589296
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 1455898820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the appropriate purpose of learning?

S

Options :
Modifications of behaviour

L . -

L | sl '1 /
o, A e SIS
-

1. %



Individual adjustment

) ]
— .,‘3./'1'-:'}'/;’”'
2. #

Social and Political awareness

# o =
Ul 208

3. #

Development of life skills
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At AT N

C

Question Number : 42 Question Id : 1455898821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How can a teacher establish rapport with students?
R - E:-—H, oo -
S U f b (TR F L ol L

Options :

Becoming a figure of authority



Impressing students with knowledge and skills

_.; f'w‘:‘ ,lb_._,;w #~

Playing the role of a guide

.J_,__- !.-* !.-d"(“1 ..
A L W EVE -1V
3. ¢

Becoming a friend to the student

PSR 7 b
4. %

Question Number : 43 Question Id : 1455898822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are the essentials for the improvement of any skill?

-
,-*| F,,'

A-..—-UJ‘HV—-L—L;/JUI-#JWU ()

o

3
Options :

Correctness & Speed

Ty,

-‘1‘

I . il
A2y 4

2. &



Accuracy & speed

;LJ’;;:F:.-E;'LEJ‘

Understanding & correctness

=
L] ]
[

il
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Easy methods & speed
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Question Number : 44 Question Id : 1455898823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?

|f- 4 __,.lr.' :"} b:" . .
S ey i A2l slay

Options :

Proper utilization of time

o
JEIG E ot



Continuity of classwork

hiy
VLFL Kl—---I qu;rg

Innovative ideas

= WS F17
3. %

Thought provoking

Question Number : 45 Question Id : 1455898824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How education is useful in application towards daily life?

__,I’l.Jl ; 7
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L N 1 ; =5 o[y
L A AT (- é—f—-u'l-w'l...r'*w:*-f«v'-’fﬂ'

Options :

For logical thinking

3



Social values

e >
ABIEk

Problem solving

AN S
3.¢¥

Moral values

e S
AR

Question Number : 46 Question Id : 1455898825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is suggestible step for the improvement of a slow learner?

Options:
Remedial teaching
e s kS kel

1.4

Re teaching

L""I“
2. %

-
P
-



Group discussion

.F"
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e wia o
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Imposition
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Question Number : 47 Question Id : 1455898826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the output that we expect from the students through high percentage of

attendance

k"

CBES LI et [ fa Sz fos i

(,--

Options:

Mid day meals

Discipline

J::-"sl/gf
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Minimum levels of learning

JE LAY
3. %

Honesty

L',;f,"' Il
4. %

Question Number : 48 Question Id : 1455898827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the strategy goes perfect for the attainment of effective learning?

4 - '/ | ~ | i | w4
Puffv;h’ﬁ’;dfé-é-u'?yé-f I/
Options :

Online oriented education

r‘_"‘b l:h x.."’||.
uw '-"h-"

Learner centered education



Teacher centered education

i":“u d,:’li,."uf.ﬂ_‘&

Play way education

UEZ:?’M{'J
4. %

Question Number : 49 Question Id : 1455898828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Expand UPE as per article No-45 of Indian constitution?

i - W ..f___n-
2K UPEJ 6 Z45 A8 L o T s

Options :

Union Programme education

S
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Upper primary education
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University programme education
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Universal primary education
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Question Number : 50 Question Id : 1455898829 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Jaya JayaPriyaBharathalanayitri...... Divyadhatri....” Who wrote this song?

- "

-~ ‘» _'_.' # - o) . y II : j
VP g Qu s 513 PR e W
Options :

Dasaradhi

Devulapalli Krishna Sastry
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Aathreya
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Botany

Section Id : 145589297
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Is Section Default?: null
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Time: 0
Spirogyra belongs to this order
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The Chemical obtained from this algae is used in the preparation of explosives
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Cyanophyceae
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Rhodophyceae
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i, The organism causing blast of rice
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Puccinia graminis
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Xanthomornas oryzae
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Pysricularia oryzae
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Entyloma oryzae
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Question Number : 54 Question Id : 1455898833 Display Question Number : Yes Is Question
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Time:0

According to Ainsworth’s classification Rhizopus and Puccinia are grouped,
respectively under
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Zygomycotina and Myxomycetes
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Basidiomycetes and Mastigomycotina
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Myxomycets and Ascomycotina
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Zygomycotina and Basidiomycotina
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Time: 0
Causative organism of citrus canker disease belongs to the germs
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Agrobacterium
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Detrimental effects of microorganisms in food include
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Spoilage
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Fermentation
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Change in flavor
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Infectious protein particles are called
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Viriods
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Virians
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Viruses
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Protists are a diverse group of organisms that include
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Plants
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Protozoans
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Algae
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Both protozoans and Algae
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One of the following helps in the dispersal of spores in Bryophytes
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Protonema
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Elaters
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Advanced type of sporophyte is present in
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Riccia

Marchantia
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Anthoceros
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Time: 0

An example of fossil psilotopsida
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Psilotum
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Time: 0
Macrophyllous leaves are present in
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Psilopsida
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Lycopsida
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Time:0
Among the following Geological times which one is the oldest?
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Devonian
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Cretaceous
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Carboniferous
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The type of embryo sac development in Gretum is
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Monosporic
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Bisporic
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Tetrasporic
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Time:0
A demerit in the classification of Bentham and Hooker is
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Options :

Division of Polypetalae into three series
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Placement of Gymnosperms
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Placement of Monocotyledons after Dicotyledons
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Treating Ranales as Primitive
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Time:0

In ‘KEW’ herbarium the specimens are arranged according to this system of

classification
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Linnean
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Bentham and Hooker
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Hutchinson

W~ OS]

3. % ‘

Engler and Prantl

),
d:,' ) 2 /3 | flé__ll

4. % l
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Time:0

Ruminate endosperm is a characteristic feature of this family
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Cucurbitaceae



Annonaceae
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Time:0

Amla, Bajra, Chrysanthemum, Coconut and Sun Flower belong to
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Only one family
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Two families
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Three families
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Sholas are
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Mangrove Vegetation
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Mixed deciduous forests
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Tropical forests
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Temperate forests
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Time:0

Maredumilli forest in Andhra Pradesh is an example of
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Tropical scrub jungle
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Temperate forest
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Dry deciduous forest
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Time:0
Vascular bundles in a Dicot stem are
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Open, Collateral and exarch
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Closed, collateral and exarch
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Open, collateral and endarch
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Time:0
The primary meristem present at the bases of internodes and leaf sheaths is
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Promeristem

Intercalary meristem
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Apical meristem
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Time:0
The presence of double fertilization (triple fusion) was discovered by
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Hofmeister
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Time:0

The production of a gametophyte directly from the sporophyte without meiosis is

called . (_;},
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Apogamy
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Apospory
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Time: 0
Maturation of stamens and pistil at different times in the same flower is called as
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Dichogamy
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Heterostyly
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Time: 0
Which of the following correctly indicate only abiotic environmental factors?
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Soil minerals, Oxygen level and predators
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Food, Parasites, predators and competitors
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Food, temperature, fire and wind
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Soil minerals, wind, temperature and light
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Time:0
During megasporogenesis the gametophytic phase starts from this cell
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Options :
Megaspore mother cell
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rgt’t.ff;‘f & )



Question Number : 78 Question Id : 1455898857 Display Question Number : Yes Is Question
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Time:0

According to the law of Tolerance, the growth of a species is limited by this

environmental factor
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For which the organism has widest range of tolerance
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Which one of the following is not a part of ex-situ conservation?
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Wild life sanctuary
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Field gene bank
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Preserving germplasm at extremely low temperature is called
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Cryopreservation
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In-Situ preservation
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Cold storage
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Herbarium
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Time: 0
Sugar moves in phloem elements as
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Cellulose

25 e

Glucose
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The movement of ions across membranes against concentration gradient utilizes
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Proteins
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Iron
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Which of the following processes utilizes molecular O,
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Glyolysis
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Citric acid cycle
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Ethanol formation
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Electron transfer
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Essential elements are

Sl Cg/ﬁt&‘ (CJ.EJLP
Options :

Required only in those processes leading to increased growth
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Time: 0
Which of the following reaction of the Calvin cycle was both NADPH and ATP?
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Phospho glyceraldehyde — Fructose phosphate
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Phospho glyceraldehyde — Ribulose biphosphate
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Time:0

What will happen to the rate of photosynthesis if Sodium bicarbonate is added in

the water having Hydrilla plant in a beaker?
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It will be decreased
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It will remain normal
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It will be accelerated
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Legume root nodules contain leghaemoglobin, Its function is to regulate
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Nodule growth
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Oxygen supply
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Time: 0
Each B-oxidation cycle yields
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1IFADH,, INADH, 1 Acetyl CoA

1.¢

2 FADH,, INADH, 1 Acetyl CoA
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1FADH,, 2 NADH, 1 Acetyl CoA
3. %

1FADH,, 2 NADH, 2 Acetyl CoA
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The phytohormone that is used to break dormancy is
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Abscisic acid
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Gibberellic acid
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Cytokinim
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Auxin promotes growth by
- ' o Ao
eulel st p o) ot

Options :

Causing stem elongation due to more cell divisions
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Enhancing the uptake of water and minerals
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Increasing the rate of photosynthesis
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Increasing the plasticity of cell walls
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Lignin is the main component of
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Primary cell wall
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Secondary cell wall
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Tertiary cell wall
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Nucleosome is a part of
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Ribosomal fraction
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Nuclear membrane
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Nucleolus
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Solenoid is 4
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Relaxed state of chromatin
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Highly condensed arrangement of nucleosomes
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Basic unit of chromosome
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Time: 0
Balbiani rings are present in this
-y S -y
ovibzh oy 3o aldl

Options :

1.



Polytine chromosomes
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Time: 0
Law of seggregation of gametes was first proposed by
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Time: 0
The Quiescent centre concept was developed by
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The DNA sequence in an operon where RNA polymerase binds to initiate

transcription is called
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Operator
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Repressor
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Okazaki fragments are short strands synthesized by a specific RNA polymerase

called
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The common breeding method used in sugarcane is
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Mass selection
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Triticale is a man-made cereal obtained through hybridization between
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Time:0

The structure that is formed in the egg of frog opposite to the point of sperm entry
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Corona radiate
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Grey crescent

J

Mouth



Neuropore
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The antibody responsible for allergy
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Ig A

Ig G
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Pseudopodia of Elphidium are
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Actinopodia
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Myxopodia
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Stomachord is characteristic of
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Balanoglossus

U W o Uy

Palaemon
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The major site for lipid synthesis in an eukaryotic cell
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Rough Endoplasmic Reticulum
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Smooth Endoplasonic Reticulum
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Mitochondria
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Brunner’s glands secrete
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Mucus
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Hydrochloric acid
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Lysozyme
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In human body, HIV attacks mainly the following
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T.- cells

Ty - cells
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NK — cells
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Botryoidal tissue is found in the body cavity of
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Larva of hemichordates
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Protein factories of a cell
DLl for L L2
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Ribosomes
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Lysosomes
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Mitochondria
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Right side shift of Oxygen haemoglobin dissociation are taken place during
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Low pH, Low CO,, high temperature
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High pH, High CO,, high temperature
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Identify the toxoid vaccine from the following
S d L3S or b7
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Anthrax vaccine
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Smallpox vaccine
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— el
é

Typhoid vaccine
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Rabies vaccine
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Symmetry of echinoderm larvae is
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Radial
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Bilateral
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Penta radial
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Placoid scales are found is
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Osteichthyes
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Chondrichthys
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Both 70s and 80s ribosomes are present in
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Mitochondria
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Chloroplast
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Prokaryotic cell
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Eukaryotic cell
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In human heart, mitral valve guards the
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Opening of post caval vein into right auricle
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Left auriculo ventricular aperture
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Which is the best method for checking mycoplasma contamination in mammalian

cell culture? /:
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Southern blotting
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Western blotting
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Glass-rope sponge is
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Euplectella
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Hyalonema
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Spongilla
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Claspers are found in
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Male frogs
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Female Sharks
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Male sharks
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Mendelian dihybrid cross phenotypic ratio

B g 5 L O S
Options :
2 e R
1. ¢
9:3:4
2. #
hossy
3. %



Question Number : 121 Question Id : 1455898900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The process by which spermatozoa acquire the ability to fertilize the ova is known
as
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Spermiation
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Spermiogenesis
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This part of mammalian nephron is impermeable the water.
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Proximal convulted tube
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Descending limb of Loop of Henle
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Distal convulted tube
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The milk produced by the transgenic cow named as Rosie, is entiched with the

following protein —
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Alpha lactalbumin
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Beta lactalbumin
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Antennae are absent in
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Crustaceans
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Reptiles with 10 pairs of Cranial nerves
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Lizards
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According to the genic balance theory, the Drosophila having Karyotype
AATXXXY is ; ok e
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Female



Meta male
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If the membrane potential of a nerve fibre is more negative than the resting

potential, the condition is called.
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Polarisation

Depolarisation
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Repolarisation

Hyperpolarisation
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The first human hormone produced by recombinant DNA technology is
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Insulin
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Glucagon
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Myxonephridia are found in
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Arenicola
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Unpaired air sac associated with the lungs of birds is
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Cervical air sac
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The process of formation of mRNA from DNA is called
& tb!-e/r\:_#){;'é/-b IQ,L,LJ:K;JMQNF\.:::' DNA

Options:
Translation
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The region in between two successive 2-lines of myofibril is called
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Sarcomere
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Very low amounts of DNA can be detected by this procedure
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Immuno electrophoresis

it 39 S 522

RIA

Question Number : 134 Question Id : 1455898913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Bats are included in the order
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Rodentia
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Chiroptera
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A chromosome aberration leads to change in the order of genes in a genetic map
but does not alter its linkage groups. This is due to one of the following processes
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Translocation
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Inversicn
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The part of adrenal gland secretes glucocorticoids
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Zona glomerulosa
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Zona pellucida
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The first gene therapy was given to treat the following disease

,yugaf.a/&lﬂi’uﬂ{*{w1uyaf{):?q};{:

Options :
Small pox
1. % mT
Polio
> )
2. %
Hepatitis
5
o Ly
3. %
SCID
4. ¥

Question Number : 138 Question Id : 1455898917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An example for Urodela
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The variations in the beaks of finches that Darwin found in Galapagos island is a

clear indication of the following evolutionary process.
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Parallel adaptation
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Nucleoproteins are
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Simple proteins
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The following antibodies can cross through placenta and enter the foetal blood

circulation from mother
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IgM
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The type of Vertebrae present in modern birds
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Acoelous
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Inheritance of acquired characters was explained by
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Jean Baptiste de Lamarck
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Formation of glucose from non carbohydrates is
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Tunicin of tunicates is similar to
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Which of the following is not a Vestigial organ in man?
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Vermiform appendix
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Eggs of insects belong to
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Microlecithal type
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The number of gill pouches in Lamprey
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Haemolytic anaemia and Jaundice are the symptoms in babies born to these
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One of the following enzyme dissolves zona pellucida
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Hyaluronidase
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Amylase
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